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(The Estimation of heat transfer effect of Bunker C-oil Combustion by

emulsified water addition.)
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Usually the combustion of Bunker—C oil limited in a
special area and achieved certain clean air effect,
Water added oil combustion has the ability
enhance the effect by the Overall Heat Transfer
Coefficient,

Every water adding step dedicated to reach an
Inerease of the heat transfer effect. So, we can
use this system and achieve reasonable energy
consumption,

21 oF Tkgo] AET,

by A 5 ddvtao] Bo| Al E
o] gl Aoltt,

Amot BE AAF vl TN 35
4 ogon 4 By /12T 2
29| Microft2 A 95195 AR 7)40] ¢
22 la0) B4l

Zo| 12o|4 7tAAe] HE Feo] oh:, E
3 0| gl o ALEE A Ha E

nujek 0] AHT Bo|7] YR AdE

wg ity S

=
C-549) WAL 9,850~10,800kt/kg H=

ojtt. Ed C-Ff= Uyt 7R&dT 22 AvY



7l=At O

HAOA olE A= S A& sk =
A= A4do)t

THS ZAAYH 1202 lsle] fLEZHZ
AAE= RZ*J@%HOOM 800tH)o] dojutr] of
ol 71E8HE S EPH vAs EueE °
o] FHAkete] 715-&e] w2 Qleke &
HAAAa7} o|Foj R wala] o|#st SAHALE
Qs oF 17 2%2] Wk 717} o] 2o AL},

o|ygt EA7te] B-&3o] wet 2B HDA7L
el Al=d ool thgt o= ofH3E Table 1 7t 2t

(Fr= SETREEE )
| Appros. Overall Heat Transfer CosfTicient U (Table |
Hot / Cold U'Keal/m *m2+ C
Liquid / Liquid 700 ~ 1,500
quuld / Gas | 15~60
Gas / Li quuld o ' 20 ~ 50
- Liquidtwaten) 9 000 000 (A1)

Steam(condensing)

Water / Steam(condensmg) 240 ~ -1,_000 A
Water + Vapor / Water | 150 ~ 340
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1) 49 d4a  C+02—C02
mw. 12 32 44
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9) =240 dA  H2 +0— H20
mw, 2 16 18

3) C—57 kg A A] A7} Z2F14.0 — 14 Thgrkg
kg C-38 % 087% O.N.S 2%
H11% Water 0.3%

4) A4 1kg F WA= EHWM s
B4l7kA C 1 8708 870gx§—31908
EH: 1108 11og><18 - 9908

5

% B4 o) 59 9908

o*v

C-%5 lkg 92 A] gAuE 4

9908 + 49288 =14188

+7] 39 8 23 25 17.3g/m3
(Al = 100%2 o)

A9 24 AdiEE 50% A=A R
8.6g/m3

B-C % 1kg @ o2 A4 371F
10.8~11,8Nm3/kg

7o) 7] 10% 2§ 11.88~12.98Nm3/kg

Axte] A F74gk 12.43Nm3/ke S F3HH

12.43Nm3/kg x 8.6g/m3 = 106.9g

kA 30% &= H7Fhe 2HA C-F

& 1kg F 1,418 + 106.9 = =& 1,525g
6) THF 50% & A7 Alol= C-Ff kg T ¢
Rk 990g, 50% & 1,000g, 37 & &

107g, S8 %% 2,100g
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7) 2UAAA LY} 28T HEWAS Fig 1o 15% 247FE = 5.95(7.6-6.77) = 4.94 %

O]
7l Ui, 20% B37} E = 5.95(7.9-6.77) = 6.72 %
= 30% EH7} E = 5.95(8.5-6.77) = 10.3 %
At STHAAL /48 o WSTH(Fig 1) 40% 227} E = 5.95.0-6.77) = 13.3 %
= e o 50% BH7} E = 5.95(0.6-6.77) = 16.8 %
e 11) H7kpe] v g B2 By o= 58
v 7F¥(Table 2)
water (%) % i
740 (%) | QEER(%) | FUM%)  HSEES(%)
8) FZUAA % A4 5 1| 80 103
28 = Yol A4 A BE AdYRE 2 = Co —f
i ) T 15 49 | 40 13.3
Bste] AAThR B0 s AYsht duie & 2 Y N R
& AARE i8] 25 85 | 50 16.8
water/steam 240~1,000 HellA] 630 A4
Gas / Liquid 20~5004] $7HH ¢ 355 A4 FAgeFo] Skt E&2 Absdh g
0— 35,100 — 630 ( Fig 1 %) 2 7739 5% Fokdd
71&7] (630-35) - 595
2.
9) = W 37| T2 %ol = A4 . 20
#1717k e 14.5 ~ 15kg/kg 30%EL C-F 99 T3 A Ao njgda
o) 27] (10%) 14.75%1.1 = 16.25kg/ke Az o] 9A drg Aol 99 Ar o Aaut
£ 0% 1.1/16.25%100 = 6.77% ol B HAR oSt A EA Y $7I2 AUt ok

E10% (0.1 + 1.1)/(16.25+0.1) X100 =7.35% 10%(Table DS 7I5T & U= &L F712AH oF
B 15% (0.15 +1.1)/(16.25+0.15) x100 = 7.6 % 12%%] RY29] &Lo] 712 AL 2 7|djHt}.

2 20% (0.2 +1.1)/(16.25+0.2)x 100 = 7.9 % @, 57 F4F RYE Y A FYULgo] 2Y
£ 30% (0.3 +1.1)/(16.25+0.3)x100=8.5% U2 FLHLATE HEA7]7] Hol 7]
5 40% (0.4 +1.1)/(16.25+0.4)x 100 = 9 % HEER ket 8 FFAAAY AFAE0 &
E50% (0.5 +1.1)/(16.25+0.5)x100 = 9.6 %  AXE ¥ = e A= {34 281 2
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(0]
A= 7178 o] ejollA A2k
10) o5 B E £ A7) w Y YolH 2% $E2 Yol 45

10% 37} E = 5.95(7.35-6.77) = 3.45 % gFo] 2o| 251 9loL} o}7|A] =olats A9
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